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M.Sc. DEGREE EXAMINATIONS, NOV/DEC—2011
REGUTLATIONS 2007
SECOND SEMESTER
XCS 121 - ENGLISH 11
COMPUTER TECHNOLOGY
(Common to Software Engineering)
(Atso applicable 1o Regulations 2009)
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)

1. Match the words in Column A with their meanings in
Column B: “x1/2=2)
A B
(a) Conservation (i) Being placed under
water
{b) Genetic (i) A study of relationship

between organisms and
their environment

() Submergence (iii) Traits passed on from
one generation to the
other

(@) Ecology {iv) Preservation

(v} Wrong explanation
2. Complete the sentences using appropriate clause: (2x1 =2)
@@} If he communicates effectively,

(i1} I would spend all my time travelling,

3. Identify the noun pheases in the following sentences:
(2x1=2)
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{(b) This portrait is quite old.

Add suitable suffixes to the following words to match the

meanng given against them: “4x1/2=2)
() Fault. - without fault; accurate

(b) Knowledge __: knowing a lot

©) Bother ____ annoying

@) Micro, . Instrumeni for seeing

Combine the following sentences using words to show
causal relation: 2x1=2)

(a) The total installations of multipurpose industrial
robots around the world will dramatically increase.
There is an acute shortage of required ‘multiskilled’
man power.

(b) Newspapers will survive, They are a cost efficient
way of providing information.

Combine the following sentences using the expressions to

show the purpose: @2x1=9

(1) Government is taking measures to develop non-
renewable sources of energy. It helps reduce
greenhouse gases depleting the ozone layer.

(b) Youth exchange programmes are held between states.
They foster friendship and understanding.

Rewrite the following in the indirect speech: 2x1=92)

(a) The Chairperson said, “The export projects have been
the main cause for the drain on our funds.”

() The Chief éngineer said to the assistants, “Report to
me immediately in case of cquipment failure.”
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Fiil in the blanks in the following passage with
appropriate form of the verb: (4x1/2=2)

In the coming decades. road transport ___ __(face) serious
problems. The density of automobile traffic in the
cities____ (be) so high that the roads will hardly be able
to ___ (accommodate) them. The only alternative ___

(be) to develop the metros or sky bus facility.

Write a description of the working of windmill. (1 x 2 =2)
Mark the stress for the following words: (Ax1/2=2)

a. Estimation  b. Ability  ¢. Chronology  d. Mechanic
PART—B (5x16=80 marks)

(a) Read the following passage carefully and answer the
questions given at the end of it:

The 20™ century has witnessed a great scientific
revolution. Tts magnitude is very much greater than
the Industrial Revolution or the Biological
Revolution witnessed upto the end of the 19™
century. In the fields of physical and natural
sciences, and engineering and technology there have
been tremendous developments in the 20t century.
In the 20t century great strides have taken place in
the fields of atomic and space research. The old
theory or indivisibility of atom was exploded. That
the atom could be split has been demonstrated. This
has led to great developments. On the one hand,
there has been the making of atom weapons. On the
other hand, atomic energy has been put to
constructive purposes. A number of atomic power
stations have been constructed. Atomic energy has
been used to drive ships. Efforts are also on to make
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Space rescarch has developed in leaps and bounds.
The moon has been brought nearer the earth.
Rockets and space-crafis have been launched into
the space in an cffort to get data about the other.
solar planets.  Speculations are on for building
interstellar spacecrafts,

There have been significant developments in
the fields of communication and  electronics.
Wireless and satellite tommunication system have
brought societies and nations very cl Within an
instant the message could reach across thousands of
miles. The electronic media has become a boon to
the society from the points of view of education and
entertainment,

The progress in the field of chemistry has
resulted in proliferation of all kinds of industries.
Especially of use to the human society is the
contribution of chemistry to agriculture. The
production of fertilizers and pesticides has the way
for more production of food items. The subject
of metallurgy has become a major developing
science. Further. the most significant developments
of this field of science is that it has become
interdisciplinary in nature, The application of
chemistry 1o the medical and biological study is
noteworthy.

Similarly, rapid development has been
noticed in natural sciences also. Besides the new
methods of producing and using fertilizers and
pesticides, new scientific methods of raising and
managing crops have come up. The development in
genetic research has grown so much that new
insights have been obtained in the study of various
systems in living organisms.  More and more
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into existence. (enetic engineering is now at the
thresheld of bringing about another significant
revolution in lifestyle. The study of plants and
animals in relation to the environment is developing
into another major useful science.

The great development in cngineering and
technology has resulted in the invention of numerous
machines that make life easy for human beings.
Revolution in the transport tem, especially the
introduction of the supersonic aviation has made
world a global village. Besides the household
gadgets, the robots are being introduced  not
only for domestic purposcs. That is, more cfficient
work at the least possible time is now being
promised. The introduction of computing machines
has revolutionized all aspects of life. From the
medical to the academic world, the computers have
become the most reliable factor in the diagnosis and
interpretation of diseases and problems.

All the great developments in the physical
sciences, nutural sciences and engineering and
technology have contributed to a more comfortable
tife. Litficiency in work is almost ensured. Saving of
human energy from drudgery has been achieved. In
short a magnificent revolution has taken place in
human life because of scientific developments in the
20 century.

{1) Choose the response which best reflects the
meaning of the text: (5x1=5)
(1) The word ‘this’ in the 1" paragraph
(a) Newton's theory
(1) The theory that atom cannot be split
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(d) Atomic research

(2) The progross in the field of chemistry has
helped in

@) The development of many types of
industries

(b} The progress of space research

{©) The innovations I communications
field

(d) The increase of computers

(3) The introduction of the  supersonic
aviiation has made

(a) Life easier for every one
(b) Our world a bigger one

(©) Our world a smaller one
() Our world a healthy one

) The word ‘this' in the third paragraph
refers to

(@)The field of natural science
(b)The field of electronics

{c) The field of metallurgy

(d) The field of genetic engineering

(5) The developments in genetic research
have provided

(@)New dimensions in the study of living
organisms

(®)New outlook to science
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() New names to living organisms

(d) New life to hving organisms.
State whether the following statements are
‘true’ or ‘false’: {6x1=6)

(a) Tndustrial revolution took place in the 20
century.

(b) Rockets and Space-crafts have been used
for travel.

(¢} Socicties have become closer because of
wireless and satellite Communication
System,

(d) Science has become interdisciplinary in
nature

{e) Genetic  engineering  can  never bring
another revolution in life style

(h Medical diagnosis has become more
reliable because of computers.

(iii)  Choose the most appropriate synonym which

conveys the meaning of the word from the
context of the text: (5x1=5)

(1) Magnitude

(a) Importance {b)size {c)quality
(d)development

{2) Constructive

(a) Construction (b) useful (c) critical  (d)
simple

(3) Proliferation

(a)development (b) production (c} to increase
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(1) threshold

(a)beaten  track  (b)doorway  (¢)building
(d)starting point

(5) promised
(a) assured  (b) given (¢) spoken (d) taken

Or
11. (b) Rearrange the following sentences in sequence: (16)

1) What ave the techniques used for observing
and taking pictures of animals at night?

(i1) They therefore, use a torch with a red mask.

(i) Any bright light will scare away the animals.

Gv)  Today, with very sophisticated cameras and
lighting devices, it is possible to photograph

and make recordings of the cries of amimals in
their dark and inaccessible forests haunts.

) Animal watchers have observed the various
activities of animals at night like playing,
chasing their prey, courting, etc.

(viy  Here scientists take advantage of the fact that
most animals are blind to red light.

(vii}  But how does one watch animals in darkncss?

(viii) Infrared telescopes have also been used to
observe animals at night.
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(k)

4. @)

Imagine that vou are the Cultural Secretary of your
college. Prepare a checklist of eight most important
activities that you have to do for the smooth conduct
of the Cultural Festival. (16)

Or

Write a set of cight important instructions to be
followed while taking part in a group discussion.

(16)

Write a paragraph on whether environment or
development ought to be given priority in about 250

words. 16)
Or

Write a report on the road accident you have

witnessed in about 200 words. (16)

Myr. Rakesh considers himself a good manager of his
mouey affairs. He prepares a definite budget for his
salary of Rs.20,000/- and sticks to it as far as
possible. This is how he spends his salary-for food.
provisions and milk he allocates Rs.8,000/-, for rent
he allocates Rs.3,000/-. Transport charges take up
Rs.1,000/- of his salary. For entertainment,
electricity and newspapers his budget provision is
Rs.2,000/-. For being ready for guests and visitors
and for their hospitality he has earmarked Rs.2,000/-
He saves Rs.3,000/- through his provident fund and
keeps the rest in service. Represent this allocation
on a pie-chart showing the item of major
expenditure, the item of minimum expenditure and
work out each expenditure into percentage.  (16)
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(a)

(b)

Or

Read the following advertisement and write a letter
of application for the post advertised. Fnclose vaur
bio-data in the proper form.

A veputed Engineering firm, located in Chennai
requires Maintenance Engineers in Electrical,
Mechanical and Civil branches.

Experience: A mintmum of three years in a related
industry.

Age: Not exceeding 35 years

Note: Preference will be given to computer literate
specialists

Apply with full career details mentioning the present
and the expected salary to the Human Resource
Manager, P.0, Box. 7977 C/o The Hindu, Chennai-2,
within 15 days. (16)

Write an essay giving suggestions to promote
tourism in our country, after analysing the problems

involved in about 500 words. (16)
Or

Write an cssay on Internet: boon or bane. (16)
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